Cecep quiz
Copsides 1~PIOLOM 250 51U 9 G-
Collt”

e

Call Fuis 0 b

\ Z 5
Madse 4=

=L

ROS& MQa /\9
- ’_’3
‘J

What {5 e ygpected penolt o Reseniom, /co i

i P J
Qowm@ oy mived STrateny) z=(4,1)
Colin P[&OS 2:<t)‘;f)ﬁ>

Wink ¢ b Sigperted poroft 1o Rosermany it

Qmmw@ logs mied stateny 1=(52)
Colin plony puie Strakesy









E—MM o Lolin
o | h T Finel gecuvily level Ler
b Resenion s o] Sheategy.
§ El - |

(4, %)






Set X = (é/ “17/))
Show  (Z,2) s

o= (L, 2)

Nos W ezeelibriyy ",






Example 11.1. Give a linear program for finding the row player’s optimal

mixed strategy for the zero-sum game with the following payoff matrix:
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